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FTHHIRR : PARX 2 HDCP#IRR: 58 20.0 % 20.0 5%z7 20.0 %¥=7 20.0
BLAR—IL * x % % % % % k % * %
2% DRAVEODEO *E D2BBOODO £ D2BBOODEO
PAR 443543445 PAR 444354354 PAR453544344
IE {iz mEEA EXR | KE | F4& | GROSS | HDCP NET %8
2 BGERE R 52 52 18.0 34.0
ZEEHMER 46 46 10.8 35.2
MIfE <K EHE 44 44 8.4 35.6
AM|/NE B— 49 49 13.2 35.8
Shrjfadx Az 42 42 6.0 36.0
6hI|F K= 41 41 4.8 36.2
ThEL|EHh  &=(E 47 47 10.8 36.2
8|t BH 46 46 9.6 36.4
Of|EkE RET] 44 44 7.2 36.8
104z|Ad  IE& 55 55 18.0 37.0
1ELdEZE  #k 48 48 10.8 37.2
1242|F0H  FHH 53 53 15.6 374
BRI H FEB 46 46 8.4 37.6
14462+ & 46 46 8.4 376
15| EBER 52 52 14.4 37.6
1647/ M= 57 57 19.2 37.8
1T 2 Fif 44 44 6.0 38.0
18fL|{EE EiEX 44 44 6.0 38.0
19fz|#& EKER 44 44 6.0 38.0
20457 |NfE  HH 50 50 12.0 38.0
2147|H$  {#AF 56 56 18.0 38.0
22/ v FIE 58 58 20.0 38.0
23KI(EL BEX 49 49 10.8 38.2
QG0 RAN ThE 48 48 9.6 384
5GIFEAR /A 48 48 9.6 384
26f5L|KHH  FEFX 48 48 9.6 38.4
216I|ER &F 54 54 15.6 38.4
GEL & 52 52 13.2 38.8
VAL A KA TN ==3 51 51 12.0 39.0
GIffEE A 59 59 20.0 39.0
S1GL[iRE 251H 50 50 10.8 39.2
32fsr|— kBl FEX 56 56 16.8 39.2
33z|F O HEHH 55 55 15.6 39.4
ALV BEE 55 55 15.6 39.4
35fI)/NE FEEh 55 55 15.6 394
6LL[;FEK (&R 55 55 15.6 394
KYRvAr= I 42 42 2.4 39.6
38GI|FHIE 18 48 48 8.4 39.6
39T SRAEB 54 54 14.4 39.6
4063 EAR 47 47 7.2 39.8
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Nirj5E B#H 53 53 13.2 39.8
A2(r |Fkly  — 3R 52 52 12.0 40.0
AL LE REZ 60 60 20.0 40.0
AMELFEN RE 49 49 8.4 40.6
ASGI[kKEH  FE 49 49 8.4 40.6
A6fIfiE " K O+ 55 55 14.4 40.6
ATGRI|EF B— 58 58 16.8 41.2
Br|FER ~FT 55 55 13.2 418
A9SI(ER)Il  1EHE 47 47 48 42.2
SO0GI|iR AR B+ 70 70 20.0 50.0
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